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(v) To7-37 5 % ey fiey 78 &1 qunfy

v)

| General Instructions :

(i)
(it)

(iii)

(iv)

)

1.

30/1/1 2

~ two questions of 1 mark, two questions of 2 marks, four questions of 3

YA G 1 8 6 0% TS U9 1 SF FI 2 |
Question numbers 1 to 6 carry 1 mark each.

Fel 4, 3 7 a1t 4 ¥ 7 SR AR 3% 716 3 3w 8 oAk e
Q& | U8 77 7 ST R 7T el @ @t ua 3w 8 T
FTFI F TN ] AT T8 8 |

All questions are compulsory.

This question paper consists of 30 questions divided into four sections — A,
and D.

Section A contains 6 questions of 1 mark each. Section B contains 6 qt
2 marks each. Section C contains 10 questions of 3 marks each.
contains 8 questions of 4 marks each.

There is no overall choice. However, an internal choice has been p

each and three questions of 4 marks each. You have to attempt only one
alternative in all such questions.

Use of calculator is not permitted.
©ug - H
SECTION - A

T W o 375 (2, -3) 8, F1 0 A ABR | FR Bz B
foig A % fadwnss s hifr | =
Find the coordinates of a point A, where AB is dia

' diameter of a circle whos
centre is (2, -3) and B is the point (1, 4). e

ke o6 To6 WA 3 Fore Ttemtor 2 + dx + &k = 0 % 5 i 20 7
HYSAT
k31 9 7 1 RS forrs for waRr 3x2—lﬂr=!%«=*0 % el T
nﬁaﬁwﬁ | | _ =
For what values of k, the roots of the equation x* %:O are real‘»?
Or

Find the value of & for which the roots of the equation 3x2 —10x+k =0
reciprocal of each other.



3. IfE tan 2A = cot (A —24°) &, @ A I HH F1d =hIfST |
- HYAT
(sin? 33°+sin2 57°) %1 UM 1 IS |

Find A if tan 2A = cot (A -24°)
Or

Find the value of (sin® 33°+sin? 57°)

4. @ 3H hl fral TN 3 A YT & 7

How many two digits numbers are divisible by 3 ?

5. ka1 W, DE||BC, AD =1 &t @41 BD = 2 @4 2 | (A ABC) 9T (A ADE)
% &FEl ¥ ST ST @ 7

3T 1
In Fig. 1, DE||BC, AD =1 cm and BD = 2 cm. What is the ratio of the

ar (A ABC) to the ar (A ADE) ?
A

Fig. 1

6. 2 dun /3 3 ofter i R e wftra e e A |
Find a rational number between ﬁ and ﬁ

HELE
ofE
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Qs -9
SECTION - B

S HEIT 7 | 12 T T4F YT 2 FT H L |

Question numbers 7 to 12 carry 2 marks each.

7.

10.

qfFTe Teriifen & WA F 1260 A1 7344 F1 HEAW @HEAF (HCF) I
HIfrT |

et
a9ise oy fawm emquils (4q+1) st (4g+3) % ®Y & 8T §, 5 ¢
I3 qUTTeh 2 |

Find the HCF of 1260 and 7344 using Euclid’s algorithm.
Or
Show that every positive odd integer is of the form (4g+1) or (4g+3), where

g 1s some integer.

FHIG AF1 3, 15, 27,39, .... 1 M 61 92 6% 219 92 § 120 ARF 27,

_ reraT
e T THIG A F W W F AN S, S, = 3% —4n T VA 2, A THH
nal 98 JTd hifery | |
Which term of the AP 3, 15, 27, 39, .... will be 120 more than its 21st term ?
Or

If S,,, the sum of first # terms of an AP is givenby S, = In* - 4n, find the nth

term.

fogadi (1, - 3) 7o 4, 5) A foem aren YawEve, v3w T R 3T |
ferufSret € 2, e 30 AT | x-o181 F 79 fiig & Frdwrien oft 710 i

Find the ratio in which the segment joining the’ points (1, — 3) and (4, 5) is
divided by x-axis ? Also find the coordinates of this point on x-axis.

ﬁ%@aﬁ@sm%%ﬁaﬁaﬁqaﬁmw%aﬂtmmwm%@
foram siam 8 | afe it afomy qum 29 1 sha @ sTe a S B i e

F1d shifs |
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A game consists of tossing a coin 3 times and noting the outcome each time. If
getting the same result in all the tosses is a success, find the probability of
losing the game.

11. U 9% =l U aR IBTAT 74T (i) U AT G&A1 o 37 1 (ii) 2 991 6 % =
ot T & 3 Y, TTreRar i shifsie |

A die is thrown once. Find the probability of getting a number which (i) is a
prime number (ii) lies between 2 and 6.

12. ¢ &1 9F 1d Hifse, afe gt fFF5E oo+3y+(G-0)=20; 12x+cy—c=0 F
g &9 @ sFw e & |

Find ¢ if the system of equations cx+3y+(3-¢)=0;12x+cy—c=0 has
infinitely many solutions ?

Qg - 4|
SECTION - C

T HEAT 13 | 22 T Tesh Y 3 3ThI I ¢ |
Question numbers 13 to 22 carry 3 marks each.

13. fag FifwfF 2w o e g |

Prove that JE is an irrational number.

14. IfQ 9GIT x? — (k +6)x +2(2k —1) % hI 1 AT 39 TUHGA HI 041 B, I
k =1 WIH T I |

Find the value of & such that the polynomial x? —(k +6)x + 2(2k —1) has sum
of its zeros equal to half of their product.

15. e forem <l SRy 19 & sl <hi AT % A % i 3 % w2 | 5 9 %
3G ATY Al H A & A & G F GAA anft | far At adaE g i
Hifsr |

arera
Qaﬁﬁﬁr%ﬁw%,mw%ﬁmﬁzamm%,sﬁta%%a‘rwﬁ%,aaa
HH 1 EerE S | 9 fis g Aifs |
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A father’s age is three times the sum of the ages of his two children. After 5
years his age will be two times the sum of their ages. Find the present age of
the father.

Or

: 1 , .
A fraction becomes 3 when 2 is subtracted from the numerator and it

becomes %when | is subtracted from the denominator. Find the fraction.

16. y-3187 1 e foig 1 Hifore st figadi (5, —2) qem (-3, 2) @ Tagwa 2 |

17.

18.

HUuAT
fergati A2, 1) @ B(S, -8) %t fiet aren tarave figsti p aun Q w anfafa
B & Srafe P foig A % fiehe R 1 3R P, 2x— y+k =0 3R wew Y w ot o
2, 1 k %1 | 314 T |

Find the point on y-axis which is equidistant from the points (5, —2) and
(=3, 2).

Or
The line segment joining the points A(2, 1) and B(5, —8) is trisected at the
points P and Q such that P is nearer to A. If P also lies on the line given by
2x—y+k=0, find the value of k.

fog Hifsro fos (sin 8 + cosec 0)2 +(cos@+secB)? =7+tan2 O +cot 0.
YT

g R (1+cot A —cosec A)(1+tan A +sec A) =2
Prove that (sin 0+ cosec 0)* + (cos 0 +sec0)? =7+ tan? 0+ cot? 6,

Or
Prove that (1+cotA —cosecA)(1+tan A +secA) =2

sTFfd 2 #, O F3 w5 & B
Th 6 1 8 Tt wefl w Sftan PQ B
P 3T Q T Tef T Yyt U foig T W
yiess wdft &1 TP A o= §
#Hifer |
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In Fig. 2, PQ is a chord of length 8 cm
of a circle of radius 5 ¢cm and centre O.
The tangents at P and Q intersect at
point T. Find the length of TP.

>
Fig. 2
19. 3Hfd 3, £ ACB=90° a1 CD L ABR, frg e f% CD? = BDx AD.

C

D

3T 3

Jra
afe P aem Q %1 A ABC # yWIsil CA o1 CB W feura fig & qon ~ C
FoHI 8, A g AT 5 (AQ? + BP?) = (AB? + PQ?)
In Fig. 3, Z ACB =90° and CD L AB, prove that CD? = BDx AD.

C

D
Fig. 3
: Or
If P and Q are the points on side CA and CB respectively of A ABC,
right angled at C, prove that (AQ? + BP?) = (AB2 + PQ?)

S EyE
OFE
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20. ITHE 4 H, STifEd 29 %1 Sawe J1a Fif, A ABCD T 371d @ ot
oo, 8 Eeft et 6 At wielt E A1 O BB E | (n = 3.14 Q)

6

8
0

N

T 4

Find the area of the shaded region in Fig. 4, if ABCD is a rectangle with sides

8 em and 6 cm and O is the centre of circle. (Take m = 3.14)

Fig. 4

21, 6 = i 1.5 o e um T # g 10 fE/er A = @ 9w @R 30
mﬁ,mmmﬁmﬁmmm,mﬁﬁmﬁ%msﬁtﬂﬂﬁ

Ot Y STEvasRdl Bl ¢ |

Water in a canal, 6 m wide and 1.5 m deep, is flowing with a speed of 10
km/hour. How much area will it irrigate in 30 minutes; if 8 cm standing water

is needed ?

22. e SIS SeA i Sgeh 4 IS |

el 0-10 | 10-20 | 20-30 | 30-40 | 40-50 | 50-60 | 60-70

Erercl 8 10 10 16 12 6 7

Find the mode of the following frequency distribution.

Class 0-10 | 10-20 | 20-30 | 30-40 | 40-50 | 50-60 | 60-70

Frequency 8 10 10 16 12 6 7
30/1/1 8
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SECTION -D

T &A1 23 T 30 Tk T Y9 4 3 I B |
Question numbers 23 to 30 carry 4 marks each.

23. aw%wwm@iﬁﬁ%ﬁﬁﬁmm%aa@mmwhaﬁ

24.

25.

26.

30/1/1 9 [P.

WA H, 0 8 9T 9 d 2 9 HH G0 ol € | I&F T g 9 ¥ ¥ #
T 1§99 J1d HfT |
AT

Th 1@ 10 9 | 4 3 ke 30 foreft qem ura % srgaet 44 ft st 2113
52 9% 40 forft e 3 wivee wd 55 forft wm % srgee St 2 | aw Y =@
aun e i R st # =t 31 Hifg |

Two water taps together can fill a tank in 1«% hours. The tap with longer

diameter takes 2 hours less than the tap with smaller one to fill the tank
separately. Find the time in which each tap can fill the tank separately.

Or
A boat goes 30 km upstream and 44 km downstream in 10 hours. In 13 hours,
it can go 40 km upstream and 55 km downstream. Determine the speed of the
stream and that of the boat in still water.

s sk TuTaR A F gAW TR 921 AN 40 B AT IUT 14 YSF 1 0T 280 B |
mé}aﬁ%m;ma’imahmaﬁﬁm

If the sum of first four terms of an AP is 40 and that of first 14 terms is 280.
Find the sum of its first » terms.

firg Fif sinA—cosA+1 _ 1

sinA+cosA—-1 secA-tanA

sinA—cosA+1 _ I
sinA+cosA—1 secA—tanA

Provq that

100 Hi =l U 152 €13 | G U 19 1 o S g1 =4eh 2 e § e wsw
% T & 37 0 60° ¥ 30° srErar gan T & | et gf e & @
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28.

29.

Srera
T 80 Wi =Sl T A1 I ATHA-TH FHH Fe1é aret &) @ o1 gu |
T @I o ST T & T foig ¥ @i o et 3 3999 o s 60° 3 30°
g | @i i S o @l & foig o gt I fifs |

A man in a boat rowing away from a light house 100 m high takes 2 minutes
to change the angle of elevation of the top of the light house from 60° to 30°.

Find the speed of the boat in metres per minute. [Use J3=1 .732]

Or
Two poles of equal heights are standing opposite each other on either side of
the road, which is 80 m wide. From a point between them on the road, the
angles of elevation of the top of the poles are 60° and 30° respectively. Find
the height of the poles and the distances of the point from the poles.

T BsT ABC 3t ToT shifSe foresi CA = 6 &, AB = 5 it 991 ZBAC = 45°
| 37 o o By A v i el e AABC ) s sl 1 3

TATE
Construct a A ABC in which CA =6 cm, AB =5 cm and £ BAC = 45°, Then

- construct a triangle whose sides are 2 of the corresponding sides of

S
A ABC.

TF % [O9% % ATHR FH FR F Gelt U deel 1 A 12308.8 54 At 2 |
39 St au Feet geffa Rl < reand s 20 @t qen 12 & 2 | Al A
TS AT 6k S H TR e S STet R She Jid e | (1= 3.14 wfifsw)

A bucket open at the top is in the form of a frustum of a cone with a capacity

of 12308.8 cm?’. The radii of the top and bottom of circular ends of the bucket
are 20 cm and 12 cm respectively. Find the height of the bucket and also the
area of the metal sheet used in making it. (Use n = 3.14)

fog A o v wweor figer & ol o ol s &t yenett % il % 4@ %
TaH BT R |

Prove that in a right angle triangle, the square of the hypotenuse is equal the
sum of squares of the other two sides.

30/1/1 10
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30. e =t s siew % aveme 32.5 24 ;@ /> % W 1@ Hif |

i 0-10 | 10-20 | 20-30 | 30-40 | 40-50 | 50-60 | 60-70 | =T
ST : £ 5 9 12 f 3 2 40
areaT
U 9ET § 100 ﬁlﬁr&fﬁmm:ﬂ%ﬁ&ﬂq%!
iR | i Y g

0-5 2

5-10 5

10-15 6

15-20 8

20-25 10

25-30 25

30-35 20

35-40 18

40-45 4

45-50 2

UF U FHH THR FH Gerft ST 95 i | 37 I J1d i |
If the median of the following frequency distribution is 32.5. Find the values

of f and f,.

Class 0-10 | 10-20 | 20-30 | 30-40 | 40-50 [ 50-60 60-70 | Total

Frequency N 5 9 12 b2 3 2 40
Or

The marks obtained by 100 students of a class in an examination are given

below.

Marks No. of Students
0-5 2
5-10 5
10-15 6
15-20 8
20-25 10
25-30 25
30-35 20
35-40 18
40-45 4
45-50 2

Draw ‘a less than’ type cumulative frequency curves (ogive). Hence find

median.

30/1/1
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Please check that this question paper contains 11 printed pages.

Code number given on the right hand side of the question paper should be written on the
title page of the answer-book by the candidate.

Please check that this question paper contains 30 questions.

Please write down the Serial Number of the question before attempting it.

15 minute time has been allotted to read this question paper. The question paper will be
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question paper only and will not write any answer on the answer-book during this

period.
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(iv) -9 7 I GH7 e 7] &1 aUfT vk 3 1 gt 5l 4, § 37 a2
et B, 3 7% G174 T B R G 37 T 3 Y5 H HIaRF [T JaT 10

777 & 1 08 571 § 379e) 130 710 [a%eq) 7 @ Faer Uan Y9 & AT E .
(v)  Serpaict & FINT F} SHlT TETE |
General Instructions :

(i)  All questions are compulsory.

(ii)  This question paper consists of 30 questions divided into four sections — A, B, C
and D.

(iii) Section A contains 6 questions of 1 mark each. Section B contains 6 questions of
2 marks each. Section C contains 10 questions of 3 marks each. Section D
contains 8 questions of 4 marks each.

(iv) There is no overall choice. However, an internal choice has been provided in
two questions of 1 mark, two questions of 2 marks, four questions of 3 marks
each and three questions of 4 marks each. You have to attempt only one of the
alternative in all such questions.

(v)  Use of calculator is not permitted.

©os - A
SECTION - A

WY TEAT 1 ¥ 6 T Tedh I | AF H 2 |

Question numbers 1 to 6 carry 1 mark each.

1. U% o o %% (-2, 2) ®, F1 U =@ AB R | Afe fog B & s (3,4) &, @
fog A % Frdures gra i |

Find the coordinates of a point A, where AB is a diameter of the circle with
centre (—2, 2) and B is the point with coordinates (3, 4).

2. 2 a1 3 F e 1 e v ity g g A |
Find a rational number between \/E and \/5 .

3. a"rgiﬁﬁmtﬁé@ﬁzaﬁmw%?

How many two digits numbers are divisible by 3 ?

4. T2 tan 2A = cot (A —24°) B, AT A T A FTd hITeC |
HUAT

Elﬂq
o}

30/172 2



(sin? 33°+sin? 57°) T W F1d HIIC |
Find A if tan 2A = cot (A —24°)
Or

Find the value of (sin”33°+ sin® 57°)

5. k% P w3 fore weET X2 + 4x 4k = 0 o TR ATEiereh B 7

HUAT

k 1 A T 3 i e R wEer 352 —10x+k =0 % 6 Th-G8 &
e & |
For what values of &, the roots of the equation x2 +4x+k=0 are real?

Or

Find the value of k for which the roots of the equation 3x2—10x+k =0 are
reciprocal of each other.

6. i 1 °, DE||BC, AD = 1 Tt @1 BD = 2 @i 8 | (A ABC) @1 (A ADE)

¥ SrThell H 91 I @ ¢

TR 1
In Fig. 1, DE||BC, AD = 1 cm and BD = 2 cm. What is the ratio of the

ar (A ABC) to the ar (A ADE) ?
A

= EyE
offs
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Qs - _
SECTION - B

S WA 7§ 12 T T Y9 2 3 D |

Question numbers 7 to 12 carry 2 marks each.

7.

10.

11.

k 1 0 F1a ShIfSre 7fE afer s 2x+3y=7, (k+)x+Qk-1)y = 4k +1
& IR w7 & 3 g ¥ |

Find the value of k for which the following pair of linear equations have
infinitely many solutions. 2x+43y =17, (k+1)x+ 2k~ Dy=4k+1

wm@aﬁ@mmwm@aﬁmé@%aﬁﬁ(ﬁ)zms%aﬁa
<kt AT & 31T Y, T e i |

A die is thrown once. Find the probability of getting a number which (i) is a
prime number (ii) lies between 2 and 6.

fegatt (1, ~ 3) qun (4, 5) #! A aren Yamave, x-3187 g 59 g #
%mﬁﬂém%,wmﬁﬁqix-a&f%wﬁg%ﬁ%mﬁvﬁmﬁ%m

Find the ratio in which the segment joining the points (1, — 3) and (4, 5) is
divided by x-axis ? Also find the coordinates of this point on x-axis.
@@aﬁwm%ﬁaﬁﬁ?ﬁqmwwéaﬂtmmwwm
%mmm%wféaﬁqﬁmwﬁﬁﬁsﬁamma}@amaﬁmﬁw
T I |

A game consists of tossing a coin 3 times and noting the outcome each time, If
getting the same result in all the tosses is a success, find the probability of
losing the game.

AR A 3, 15, 27, 39, . HET AR TF 21372 q 120 31fors 8 7
: 3T
At T WHIR At W v w5 A Sys S, =3n? —4n T Ye9 2, q @

ndll g T S |

Which term of the AP 3, 15,27, 39, ... will be 120 more than its 21st term ?
Or

30/1/2 A
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If S,,, the sum of first » terms of an AP is given by S, = 3n* —4n, find the nth

term.

12. IfFre weiiften % AR @ 1260 AT 7344 H WewH FEGEds (HCF) I
i |

Ferat
Turien fiF s faww eAquilse (4g+1) 3AUET (49 +3) F &9 F &1 2, & ¢
hIE qUTleh B |

Find the HCF of 1260 and 7344 using Euclid’s algorithm.
Or
Show that every positive odd integer is of the form (4¢ +1) or (4 +3), where
g is some integer.
Qe - |
SECTION-C

W HEAT 13 § 22 T TS YU 3 3| I ¢ |
Question numbers 13 to 22 carry 3 marks each.

13. o= ST &9 1 918 53 B, k %1 HH 3T i |

el 0-20 20-40 40-60 60-80 80-100
ELChG] 12 15 32 k 13

The arithmetic mean of the following frequency distribution is 53. Find the
value of £.

Class 0-20 20-40 40-60 60-80 80-100
Frequency 12 15 32 k 13

14. i 2 #, g9ie 10 o6 G F1 A% J1q HIC, At g9 hi Brean 21 T R e
Z AOB=120°% | (n=¥'@ﬁfmj

30/1/2 5
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Find the area of the segment shown in Fig. 2, if radius of the circle is 21 cm

and Z AOB = 120° [Use ﬂ:z%)

Py AT
W

Fig. 2

15. Tl 34, £ ACB=90° @91 CD L AB2, firg iR f% CD? = BDXAD .

C

D

THIA 3

arera
afe P aom Q %H1: A ABC # yweil CA @en CB W fog fig & e £ C
woehio 8, it g IRTC 6 (AQ2 + BP?) = (AB? + PQ?)

InFig. 3, Z ACB = 90° and CD L AB, prove that CD? = BDXAD.

&

D
Fig. 3
f Or
If P and Q are the points on side CA and CB respectively of A ABC,
right angled at C, prove that (AQ? + BP?) = (AB2 + PQ?)

30/1/2 6
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16.

17.

18.

19.

20.

Tt 4 ®, W A ABC, Rl yomd BC = 8 @i, A
AB = 10 ot a1 AC = 12 @i 8, % 3faiia & Jd

wi=n T 2 | BL, CM @9 AN ol dioirgal a shifme | e 123
N M
B
L
8 Tl
T 4
In Fig. 4, a circle is inscribed in a A ABC having sides A

BC = 8 cm, AB = 10 cm and AC = 12 cm. Find the
lengths BL, CM and AN.

10 cm 12cm
N M
G
B—L
8 cm
Fig. 4

6 it =t 3K 1.5 H Ted T Few # qrt 10 fhi /e i = @ 5® @R
30 fire #, 7% T e gmeet i =g & aeft, sefs e & foro 8 &t
Tt YTt Sl AR gl € |

Water in a canal, 6 m wide and 1.5 m deep, is flowing with a speed of 10
km/hour. How much area will it irrigate in 30 minutes; if 8 cm standing water
is needed ?

forg iR B V2w srufor gE@n R |

Prove that \/5 is an irrational number.

afe sgTe x? - (k+6)x+2(2k 1) F ST 1 AN 3% USRS 1 AT R, dl
k 1 AT ST RIS |

Find the value of k& such that the polynomial x% = (k+6)x+2(2k—1) has sum
of its'zeros equal to half of their product.

=318 %1 a8 faig Fra e o7t foigadt (5, -2) T (-3, 2) & qHGEE R |
v

30/1/2 7
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21,

22,

fagati A(2, 1) a1 B(5, -8) #ht firem aren tarave fagati P aen Q w i
arar 8 Safeh P fog A & fsre B 1 3R P, 2x— p+k =0 501 wew Y@ W ot fedra
2, A k1 9H 31 T |

Find the point on y-axis which is equidistant from the points (5, —2) and
(-3, 2).
Or

The line segment joining the points A(2, 1) and B(S, —8) is trisected at the
points P and Q such that P is nearer to A. If P also lies on the line given by
2x—y+k =0, find the value of k.

e fUdT <l 311G 79 & S hl Y F AN F A F FHE & | 5 T o qvEd
Il AR T Al A & AN F G F g9H anft | frar i adem o7y 3@
hiferg |

HYAT

@ﬁa%ﬁaﬁﬁ%,wmmﬁzwmiaﬂw@'%E’raﬁ%,aﬁﬂt
A9 1 =™ 9 | 98 i 3| A

A father’s age is three times the sum of the ages of his two children. After 5
years his age will be two times the sum of their ages. Find the present age of
the father.

Or

3 1 . ]
A fraction becomes 3 when 2 is subtracted from the numerator and it

] ; ; : ;
becomes 3 when | is subtracted from the denominator. Find the fraction.

forg #ifoa fop (sin®+cosec 0)? + (cos O +secB)? =7+ tan® 0 +cot? 0.
HYUAT

firg #if f6 (I+cotA—cosecA)(l1+tan A +secA)=2

Prove that (sin© + cosec 0)% + (cos 0 +secB)? =7+ tan® 0+ cot? 0.

Or
Prove that (1+cotA —cosecA)(l1+tanA +secA)=2

30/1/2 8
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SECTION - D

WY GEAT 23 ¥ 30 T Tedh YT 4 B AT |
Question numbers 23 to 30 carry 4 marks each.

2 2
tan” A cosec A 1
23. fag Fifsm h e
tan? A—1 sec> A—cosec’A 1-2cos’ A
2 2
Pt ta? A 2cosec A - 1 !
tan“ A—1 sec“A—cosec A 1-2cos“A

24, U GHTOR A 1 IUH 92 3, ATAH YE 83 AT 3HF Gl 92T 1 INTRS 903 B | 39
YT A1 % UEi 3hl T aUT GTaIR J1d I |
The first term of an AP is 3, the last term is 83 and the sum of all its terms is
903. Find the number of terms and the common difference of the AP.

25. TF BYS ABC # w1 iy R ys1 BC = 6 @t, £ B = 45° @
Z A =105 8, a8 T 31 By $it = il fesht yoid A ABC &t @71
s 1 2 T
Construct a triangle ABC with side BC =6 cm, Z B =45°, £ A= 105° Then
construct another triangle whose sides are % times the corresponding sides of
the A ABC.

26. AfE F SRERAT s %1 W 32.5 R Al £, AUT f, % HEA Jid hiferg |
a1 0-10 | 10-20 | 20-30 | 30-40 | 40-50 | 50-60 | 60-70 | =M
TSR : fi 5 9 12 5 3 2 40

HUAT
us giten o 100 Tt grn g fi= ey mu g
it | feEmie & g
0-5 2
5-10 5
10-15 6
15-20 8
20-25 10
25-30 25
30-35 20
35-40 18
40-45 4
45-50 2
U U FHH YRR I Gl SR a5 Wi | 37d: Hieaeh Jd it |
30/1/2 9
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27.

28.

median,

%a#ﬁqﬁﬁ@mmﬁaaﬁmf%‘raﬁ,mawaﬁ%aﬁ%ah%
A BT & |

Prove that in a right angle triangle, the Square of the hypotenuse 1s equal the
Sum of squares of the other two sides.

30/12 10
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29, 2 U ¥ et U TIY TH 3 i 1%- 21 K G § | 92 T AT T 3

30.

ﬂﬁﬁ,mwma@mﬁzﬁ%mwém%lmwmmﬁﬁ@
YA 1 GHG TG e |
arera

T @ 10 HE § U % ke 30 freht o e % TgES 44 TRt ST R 113
3 i 52 40 Tt T 3 ket @ 55 fFh g % SrEe ST § | SR A =
de1 =74 1 FRr w7et # =1 1 hiieg |

Two water taps together can fill a tank in 1% hours. The tap with longer

diameter takes 2 hours less than the tap with smaller one to fill the tank
separately. Find the time in which each tap can fill the tank separately.

Or
A boat goes 30 km upstream and 44 km downstream in 10 hours. In 13 hours,
it can go 40 km upstream and 55 km downstream. Determine the speed of the
stream and that of the boat in still water.

100 Ht 33 T TSz T13E A U A1 I @ Sl g FAfh 2 e § wee T
3 Rt 3 T 0 A 60° F 300 T g Ut @ | Hex wfo e # A0
= 3 AR | [3 =1.732 wfife

At

e 80 T HYE) T AN ST A - GHH = AT A T T LR |
25 il % ot TeE e g & @it % Rt % I 0 EH: 60° 3 30°
5 | ivii ) s otk @it @ firg 1 gt T e

A man in a boat rowing away from a light house 100 m high takes 2 minutes
to change the angle of elevation of the top of the light house from 60° to 30°.
Find the speed of the boat in metres per minute. [Use =1 .732]

' Or

Two poles of equal heights are standing opposite each other on either side of
the road, which is 80 m wide. From a point between them on the road, the

angles of elevation of the top of the poles are 60° and 30° respectively. Find
the height of the poles and the distances of the point from the poles.

30/172 11
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Candidates must write the Code on the
title page of the answer-book.

. I SE S g - A R 11 #

. T A e T i i R e TR A B - & 7a-98 T fd

« R SitE A S o g AT H 30 W €

S Y T I FOREAT Y S 8 UER, S 1 Hich v ford |

. 76 ST F T ¥ R 15 fime @ wwa fan e By e gEtE #1015
o= fFm STem) 10015 oS @ 10.30 S9 TF ST Fae -7 F T 3 39 Iafy F
AN A IRt 9T 1S I A fore|

« Please check that this question paper contains 11 printed pages.

« Code number given on the right hand side of the question paper should be written on the
title page of the answer-book by the candidate.

« Please check that this question paper contains 30 questions.

« Please write down the Serial Number of the question before attempting it.

« 15 minute time has been allotted to read this question paper. The question paper will be
distributed at 10.15 a.m. From 10.15 am. to 10.30 a.m., the students will read the

question paper only and will not write any answer on the answer-book during this
period.
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(iv)

)

W-Wﬁﬁ%ﬁﬂ?ﬁ?!mﬁ@ﬁﬂﬁwﬁﬁ; gt 37 a1 2
Y1 4, 3 37 a1 4 F99 7 3k aw 375 6 3 Y¥1 H SR ey g7
TG &/ Q8 597} 7 S19) 12 77 i 5 @ a7t v gy & e &)
FAFTIZT 3 JNT 31 ST T 1

General Instructions :

(i)
(ii)
(iii)

(iv)

v)

All questions are compulsory.

This question paper consists of 30 questions divided into Jour sections — A, B, C
and D.

Section A contains 6 questions of I mark each. Section B contains 6 questions of
2 marks each. Section C contains 10 questions of 3 marks each. Section D
contains 8 questions of 4 marks each.

There is no_overall choice. However, an internal choice has been provided in
two questions of 1 mark, two questions of 2 marks, Jour questions of 3 marks
each and three questions of 4 marks each. You have to attempt only one of the
alternative in all such questions.

Use of calculator is not permitted.
Qg - A
SECTION - A

I GE&AT 1 ¥ 6 T Teilsh YT 1 3T 1 3 |

Question numbers 1 to 6 carry 1 mark each.

1.

QA I ¢ A b, a=x3y? AT b= & ¥ 7 forg o1 @ 8, wEl oy,
ST HEAw &, @ .9, (LCM) (a, b) 1 4 37 Hifvre |

Two positive integers a and b can be written as q = *y? and b= 3. x,y
are prime numbers. Find LCM (a, b).

<1 3 i et gt 3 @ weg 7

How many two digits numbers are divisible by3?

Ff 16, DE|[BC, AD = 1 8t a1 BD = 2 i 2
(A'ABC) @1 (A ADE) % 8 & a1 T 8 7 B 5

TR 1

30/1/3 2
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In Fig. 1, DE||BC, AD =1 cmand BD =2 cm. A
What is the ratio of the ar (A ABC) to the

ar (A ADE) ? % "
B
Fig. |
U g 8@ F% (2, -3) ®, F1 UH 4™ AB ? | 3 fig B & fdwms (1, 4) E @t
forg A % facamen e Ao |

Find the coordinates of a point A, where AB is diameter of a circle whose
centre is (2, —3) and B is the point (1, 4).

ko To ATl o fore wfteor x2 + dx + k = 0 % He aredters g 7

HAYET

k =1 98 | J14 hifoe, Foraeh fore wfietor 3x2 —10x+ & =0 & qof Th-g@l &
wferer & |
For what values of &, the roots of the equation x* +4x+k =0 are real?

Or

Find the value of k for which the roots of the equation 3x> —10x+k =0 are
reciprocal of each other.

If3 tan 2A = cot (A —24°) 2, @ A I A F1a Ffew |
HUAT
(sin? 33°+sin2 57°) 1 A 1 AT |
Find A if tan 2A = cot (A —24°)
Or
Find the value of (sin® 33°+sin? 57°)

30/1/3 3



QuE - 9
SECTION -B

o G 7 A 12 T T Y 2 3 FE |

Question numbers 7 to 12 carry 2 marks each.

7.

10.

11.

mﬁﬁqﬁﬁaaﬁmﬁ%ﬂmmm%\xﬁaﬁ?ﬁﬁl

AUt

e guiat Avft 3 YUH e 1 ATES n? &, 7@ Aoft &1 10af 78 1 AT |

Find, how many two digit natural numbers are divisible by 7.
Or

I£ the sum of first n terms of an AP is n*, then find its 10th term.

@@aﬁ%m%ﬁﬁ%ﬁﬁ?ﬁqmmm%aﬂtmmww%@
%mm%laﬁmﬁqﬁmmw@ﬁﬁ@ﬁammﬁ@amﬁmﬁm
a I |

A game consists of tossing a coin 3 times and noting the outcome each time. If
getting the same result in all the tosses is a success, find the probability of
losing the game.

fagatt (1, - 3) @ (4, s)ﬁﬁaﬁm%@@u@,xmamﬁnwmﬁ
ﬁwﬁa@m%,%mﬁmlx-aa%wﬁg%ﬁmﬁmﬁmi

Find the ratio in which the segment joining the points (1, — 3) and (4, 5) is
divided by x-axis ? Also find the coordinates of this point on x-axis.

@mﬁﬁ@wmwmwmﬁw%aﬁaﬁ(mzwe%aﬁa
) TS 3 A Y, WTrRdT T e |

" A die is thrown once. Find the probability of getting a number which (i) is a

prime number (i) lies between 2 and 6.
}

¢ %1 O 1d shifore, afe wHieR e ox+3y+(3-0)=0; 12x+¢cy—c=0 %
 ayqfefid w9 8 SHF EA € |

Find ¢ if the system of equations ex+3y+(3-c)=0; 12x+cy—-c=0 has

infinitely many solutions ?

30/1/3 4
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12. gfFs weiien % A0 & 1260 @ 7344 %1 WEGH GHEds (HCF) Id
Hifor |
FHUYAT
avtten f geis forem GAQUITE (4q +1) AT (4g+3) ¥ &9 &1 o1 8, Tl ¢
I3 qUTT 2 |

Find the HCF of 1260 and 7344 using Euclid’s algorithm.
Or
Show that every positive odd integer is of the form (4g +1) or (4g +3), where
g is some integer.
Qus - ¥
SECTION -C

ST G 13 A 22 T T T 3 3HI €|
Question numbers 13 to 22 carry 3 marks each.

13. 3x3+10x2—9x~—4%Hﬁwmﬁﬁq,ﬁﬁmﬁﬁﬁﬁl%l

Find all zeros of the polynomial 33 +10x% —9x—4 if one of its zero is 1.

(4. s &t e 3 v gu A 8 At et o S PQ R | P 3T Q W T3} T TEH
@WTWWM%I(&@%zﬁQTPﬁW%ﬁﬁm

P
5 gt
T 0
Q
SR 2

PQ is a chord of length 8 cm of a circle of radius 5 cm. The tangents at P and
Q intersect at a point T (see Fig. 2). Find the length TP.

P
|
gl \5cm
(5]
T = 0]
Q
Fig. 2

= EuE
oFks
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15.

16.

17.

18.

Rrg AR e 2+5*/5 o S T &, B U5 o et g

+43
5

Prove that is an irrational number, given that +/3 is an irrational

number.

g fifse for (sin 8+ cosec 0)? +(cos@+secH)? =7+tan’ 0 +cot2 0.
HUAT

forg #ifsie fas (I+cotA—cosecA)(1+tan A+secA)=2

Prove that (sin 0+ cosec 0)” + (cos 0+ sec0)? = 7 + tan2 8+ cot? 0.

Or
Prove that (1+cotA —cosecA)(1+tan A +secA) =2

T i S g S A = Y g F AN F T F wwE R 5 % geer
TR g w= A I F A F g % guE A fre S 9
#ifer |

HUAT
@mgama,mmmazmmaaﬂzaﬁgaa—m%,aaa
T F 1 g2 S | T8 s g Hifsm |

A father’s age is three times the sum of the ages of his two children. After 5
years his age will be two times the sum of their ages. Find the present age of
the father.

Or

g 1 ) :
A fraction becomes 3 when 2 is subtracted from the numerator and it

1 . : ! :
becomes 3 when 1 is subtracted from the denominator. Find the fraction.

y-318 1 g foig 31 <RIfSre St feigadf (5, —2) @em (-3, 2) & wwqma 2 |

Jrerat
fagati A(2, 1) @@ B(S, -8) 1 fiei aren Tamave figedt p aar Q w anfiviom
B @ Safe P fag A % fhe 81 AR P, 2x— y+ k=0 g0 ved Yo W oft fRm
2, @ k %1 7 F1d i |

Ehl@
=
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Find the point on y-axis which is equidistant from the points (5, —2) and
(3, 2).

Or
The line segment joining the points A(2, 1) and B(5, —8) is trisected at the
points P and Q such that P is nearer to A. If P also lies on the line given by
2x—y+k=0, find the value of k.

19. e ST SieA T Sges 1d hifere |
it 0-10 | 10-20 | 20-30 | 30-40 | 40-50 | 50-60 | 60-70

AT 8 10 10 16 12 6 7

Find the mode of the following frequency distribution.
Class 0-10 | 10-20 | 20-30 | 30-40 | 40-50 | 50-60 | 60-70
Frequency 8 10 10 16 12 6 7

20. 6 T =S o 1.5 H el Tk TR H 9l 10 feft/aar i S A TR W21 30
ﬁ%ﬁ,%m%ﬁmsﬁ%ﬁmm,mw%ﬁmsﬁﬂﬁ
art Y ST Bl # |

Water in a canal, 6 m wide and 1.5 m deep, is flowing with a speed of 10
km/hour. How much area will it irrigate in 30 minutes; if 8 cm standing water
is needed ?

21. sk 3%, £ ACB =90° @1 CD L ABR, frg ifsre fo CD? =BD xAD.
C

D

AT 3

rera
gfe P qem Q HA: AABC’ﬁgﬁTaﬁCAHﬂTCBW@Hﬁ‘g%HW ® & o
T 2, ot firg iR B (AQ? +BP?) = (AB? +PQ?)

= EyE
ofhs
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22.

In Fig. 3, £ ACB =90° and CD L AB, prove that CD?> = BDxAD.
C

-

D
Fig. 3
Or
If P and Q are the points on side CA and CB respectively of A ABC,
right angled at C. Prove that (AQ? + BP?) = (AB* + PQ?)

ATFfa 4 |, SR & 1 &3%a J1d A, af8 ABCD wh smaa @ frgeh
ST 8 &t qT 6 et isft & qun O 9% 1 g R | (n = 3.14 fifsw)

Find the area of the shaded region in Fig. 4, if ABCD is a rectangle with sides
8 cm and 6 cm and O is the centre of circle. (Take = 3.14)

30/1/3 8



T uE - g
SECTION - D

YUY HEAT 23 § 30 T YA T 4 371 I R |
Question numbers 23 to 30 carry 4 marks each.

23. G sec = x+zl;,x¢0, al (sec 6 + tan 6) 3a FfST |

Ifsec O = x+%,x¢0, find (sec 6 + tan ).

24. Thg FfS o 3t waET Bfsil & &wel o1 STgUTd 3790 T TS o ST %
T 3 e g § |

Prove that the ratio of the areas of two similar triangles is equal to the square
of the ratio of their corresponding sides.

25, Trafafiaa e et B 3 50 sfirni 6t 2 sma aofar 21

e o (TH) 200-220 | 220-240 | 240-260 | 260-280 | 280-300
gftent it gemn 12 14 8 6 10
I o2 ! U o FH JHR & Goil SRERAl s | qefore a2 I Ry
i |

ST
Hier &t 8 anferert foRet sormeR & 25 uiEwl 1 @ veref W e wd gl R |

W et 1 & 31 @ 1 hif |
e @) 100-150 | 150-200 | 200-250 | 250-300 | 300-350
gftar it g 4 5 12 2 2

The following distribution gives the daily income of 50 workers of a factory.
Daily income (inX) | 200-220 | 220-240 | 240-260 | 260-280 | 280-300
Number of workers 12 14 8 6 10

Convert the distribution above to a ‘less than type’ cumulative frequency
distribution and draw its ogive.

Or

30/1/3 9
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26.

27,

28.

The table below shows the daily expenditure on food of 25 households in a
locality. Find the mean daily expenditure on food.

Daily expenditure 100-150 | 150-200 | 200-250 | 250-300 300-350
(in%):

Number of 4 5 12 2 2
households :

T s ABC i = fifsme formd CA = 6 Ui, AB = 5 4 41 /BAC = 45°
& m@mﬁaﬁﬁmﬁﬁqfﬁaﬁgﬁaABcﬁWWaﬁmg
AT |

Construct a A ABC in which CA = 6 cm, AB =5 cm and Z BAC =45° Then

construct a triangle whose sides are % of the corresponding sides of

A ABC.

F & 55 % SR A IR Gel e a1 12308.8 =7 9t 3|
T Sl qent freet oo Rt ) feamt s 20 Gt @91 12 9t B | aredt
TS AT §H S 8 ) YTg bl STGT T Sha T Fife | (m = 3.14 =fifsm)
A bucket open at the top is in the form of a frustum of a cone with a capacity

of 12308.8 cm?. The radii of the top and bottom of circular ends of the bucket
are 20 cm and 12 cm respectively. Find the height of the bucket and also the
area of the metal sheet used in making it. (Use & = 3.14)

Ioorﬁﬁwmmﬁgwmﬁéwgwwﬁmﬁqﬁmm
%ﬁ]@t%wﬁwﬁsmé30°W§ww%fnﬁauﬁﬁwﬁmﬁ

=T T SHIToT | [J§=1.732?ﬁf%nzj

Jrera
T 80 rﬁiﬁsﬁm%ﬁﬁmﬁ—mwiﬂﬁaﬁadﬁaﬁgﬁlﬁ
3l @l 3 oftr Trewh % w fiig & @it ¥ R % g o e 60° 3 30°
& | @l ot e aiv @il & g 91 5 7 B |

A man in a boat rowing away from a light house 100 m high takes 2 minutes
to change the angle of elevation of the top of the light house from 60° to 30°.

Find the speed of the boat in metres per minute. [Use Y3=1 .732]

30/1/3 10
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29.

30.

30/1/3 11 [P.

Or
Two poles of equal heights are standing opposite each other on either side of
the road, which is 80 m wide. From a point between them on the road, the
angles of elevation of the top of the poles are 60° and 30° respectively. Find
the height of the poles and the distances of the point from the poles.

21 T & T U W1 TH 3F 1% a1 7 9T A & | T A Al A o

wﬁﬁ,mmmﬁwﬁzﬁmwm%imwmwﬁhﬁ
T o1 GHA T hIT |

FreraT
wF A 10 T H G o gidsket 30 Foreft den aw % SRS 44 Tl Tl ®1013
3 7 7w 40 Pt aRT % SRt T 55 R a0 STEe S @ | R R =
o1 =19 i fRR st § =1 J1d AT |

Two water taps together can fill a tank in 1% hours. The tap with longer

diameter takes 2 hours less than the tap with smaller one to fill the tank
separately. Find the time in which each tap can fill the tank separately.

Or
A boat goes 30 km upstream and 44 km downstream in 10 hours. In 13 hours,
it can go 40 km upstream and 55 km downstream. Determine the speed of the
stream and that of the boat in still water.

2f s T A & WA W GG H1 AN 40 B qUT FAH 14 9&1 %1 AT 280 & |
=0 St % TUH p T&T 1 AT J1d BT |

If the sum of first four terms of an AP is 40 and that of first 14 terms is 280.
Find the sum of its first » terms.

S EyE
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